This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 16 - Inverness Millburn

3,590

3

898

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Ian BROWN	Scottish National Party (SNP)	738
Zosia FRASER	Independent	140
Jimmy GRAY	Scottish Labour Party	1,064
Jackie HENDRY	Scottish National Party (SNP)	452
Isabelle MACKENZIE	Scottish Conservative and Unionist	716
Anne THOMAS	Scottish Green Party	213
John WEST	Scottish Liberal Democrats	267
	Total	3,590

Candidate Jimmy GRAY Elected with 1,064 votes, being in excess of the quota of 898

This report contains the transfers results.

Stage 2 - Surplus of Jimmy GRAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian BROWN	111	0.15601	17.31711
Transfer to Zosia FRASER	117	0.15601	18.25317
Transfer to Jimmy GRAY	0	0.00000	0.00000
Transfer to Jackie HENDRY	70	0.15601	10.92070
Transfer to Isabelle MACKENZIE	212	0.15601	33.07412
Transfer to Anne THOMAS	103	0.15601	16.06903
Transfer to John WEST	201	0.15601	31.35801
Value of non-transferable ballot papers			39.00786
	Total		166.00000

This report contains the transfers results.

Stage 3 - Exclusion of Zosia FRASER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian BROWN	6	0.15601	0.93606
Transfer to Ian BROWN	14	1.00000	14.00000
Transfer to Jimmy GRAY	0	0.00000	0.00000
Transfer to Jackie HENDRY	8	1.00000	8.00000
Transfer to Jackie HENDRY	8	0.15601	1.24808
Transfer to Isabelle MACKENZIE	26	0.15601	4.05626
Transfer to Isabelle MACKENZIE	39	1.00000	39.00000
Transfer to Anne THOMAS	24	1.00000	24.00000
Transfer to Anne THOMAS	15	0.15601	2.34015
Transfer to John WEST	35	0.15601	5.46035
Transfer to John WEST	26	1.00000	26.00000
Value of non-transferable ballot papers			33.21227
	Total		158.25317

This report contains the transfers results.

Stage 4 - Exclusion of Anne THOMAS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian BROWN	17	0.15601	2.65217
Transfer to Ian BROWN	46	1.00000	46.00000
Transfer to Zosia FRASER	0	0.00000	0.00000
Transfer to Jimmy GRAY	0	0.00000	0.00000
Transfer to Jackie HENDRY	59	1.00000	59.00000
Transfer to Jackie HENDRY	19	0.15601	2.96419
Transfer to Isabelle MACKENZIE	3	0.15601	0.46803
Transfer to Isabelle MACKENZIE	32	1.00000	32.00000
Transfer to John WEST	55	1.00000	55.00000
Transfer to John WEST	38	0.15601	5.92838
Value of non-transferable ballot papers			51.39641
	Total		255.40918

This report contains the transfers results.

Stage 5 - Exclusion of John WEST

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian BROWN	33	1.00000	33.00000
Transfer to Ian BROWN	29	0.15601	4.52429
Transfer to Zosia FRASER	0	0.00000	0.00000
Transfer to Jimmy GRAY	0	0.00000	0.00000
Transfer to Jackie HENDRY	15	0.15601	2.34015
Transfer to Jackie HENDRY	37	1.00000	37.00000
Transfer to Isabelle MACKENZIE	155	1.00000	155.00000
Transfer to Isabelle MACKENZIE	86	0.15601	13.41686
Transfer to Anne THOMAS	0	0.00000	0.00000
Value of non-transferable ballot papers			145.46544
	Total		390.74674

This report contains the transfers results.

Stage 6 - Surplus of Isabelle MACKENZIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian BROWN	29	0.01492	0.43268
Transfer to Ian BROWN	78	0.09568	7.46304
Transfer to Zosia FRASER	0	0.00000	0.00000
Transfer to Jimmy GRAY	0	0.00000	0.00000
Transfer to Jackie HENDRY	79	0.09568	7.55872
Transfer to Jackie HENDRY	32	0.01492	0.47744
Transfer to Isabelle MACKENZIE	0	0.00000	0.00000
Transfer to Anne THOMAS	0	0.00000	0.00000
Transfer to John WEST	0	0.00000	0.00000
Value of non-transferable ballot papers			79.08339
	Total		95.01527

This report contains the transfers results.

Stage 7 - Exclusion of Jackie HENDRY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian BROWN	26	0.01492	0.38792
Transfer to Ian BROWN	68	0.09568	6.50624
Transfer to Ian BROWN	55	0.15601	8.58055
Transfer to Ian BROWN	473	1.00000	473.00000
Transfer to Zosia FRASER	0	0.00000	0.00000
Transfer to Jimmy GRAY	0	0.00000	0.00000
Transfer to Isabelle MACKENZIE	0	0.00000	0.00000
Transfer to Anne THOMAS	0	0.00000	0.00000
Transfer to John WEST	0	0.00000	0.00000
Value of non-transferable ballot papers			93.03457
	Total		581.50928